| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1g Entries 112950 1g - - ~— Entries 112950
E Mean 0.08731 ' ' ' Mean 1.615
r Std Dev 0.3661 N Std Dev 2.445
10_1 E_ 7| missing_inner_layers 10_1 E_ """"""""" " """"" = missing_outer Tayers
= Entries 112942 = : Entries 112942
r Mean 0.0872 r : Mean 1.615
_ Std Dev 0.3657 2 B Std Dev 2.445
1072 T 1072 e Feeeeeeeet -
E missing_inner_layers E N missing_outer_layers
- Entries 112841 - H Entries 112841
3| | Mean 0.0854 ) R | I 1. | Mean 1.621
10 Std Dev 0.3598 10 : Std Dev 2.452
: - ] : : [
I missing_inner_layers o . . . missing_outer_layers
—4 L Entries o [ . ] Entries 112841
10 E Mean 10 E : : . | Mean 1.621
= Std Dev = Std Dev 2.452
-5 rv;\ssmg;innerilaysrs ) R P o mlssmg;outerjayers
10 E Entries 112942 10 E Entries 112942
F Mean 0.0872 F Mean 1.615
I | | : Std Dev 0.3657 I i i Std Dev 2.445
O1DD§,:|||.||||.||||||||||||||||||||:||||:||||:|||| ODU-' ........ P ————"
g 4 g b idd
== el IS e N O R
0.95[F -+ wxefezanofees S B PP EPRRPEPES F H|||| T
0.9k e 0.95L : : : :
0 1 2 3 4 5 6 7 8 9 10 0 5 10 15 20 25
— ) VOO0 I ROOO00000 T —Giopa—TTREtIN000 —_RECO
— B :VVZ]I)O 300000000%_(38 g_m E: %OOOKfrli?nI%gO RE
[Cmean nif —— BoVVoa0i-Radenaonat—alona—keiooaCtime —RECS
s DOM”V0001"R000000001—Global—mkFit1000MTime _RE
= 20¢ " " " " " 10°F Entries 112950
%) r . . . . . E Mean 13.05
> 18 - . - r Std Dev 5.922
A - R R |
2 16 r hits
= 3 Entries 112942
v 10 E 1| Mean 13.05
14 E *Histd Dev 5.922
- |~
12 L | hits
F 5 Enlries 112841
o 10 ™ 13.04
10 E std bev 5.927
E R : I
| hits
[nme 112841
10 E 13 Ui
3 Std Dev 5.927
E : I
B hits
B : | Entries 112942
2 1= ;| Mean 13.05
: : : : E Std Dev 5.922
\‘O_||||||||||||||||||||||||||||| '||I||||I||||I||||I||||I
o * * * * * o vl
£ lLLL uuuuull
WUl IITTTTIHTTT] |
0.958 i
0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
num_reco_pT
T T Entries 120117
... e [ Mean 2.303
lo . Std Dev 6.807
: |
num_reco_pT
1 BN R S = T Entries 120094
10 : : Mean 2.304
: : Std Dev 6.807
: : : I
3 H H num_reco_pT
10 g T tries 119916
: : Me 2.306
: : Std Dev 6.813
: : b | |
-4 ... Veemeaeananan e nufn reco_pT
10 3 N : Entries 119916
E . . Mean 2
X . . Std Dev 6.813
S
E num_reco_pT
= Entries 120094
- . . Mean 2.304
B | | Std Dev. 6.807
010 : ; T :
2 H
< I
o 1
1l il
0.950 : . : s
10 1 10 10? 10

track p_



	Contents
	Page 1


